
2107 .72'REEa TLET-D"-FI
1/14

H(PEK ,
DC1)

⑤2E

$7/10/2iMEE

$2772:FE .
ES

new !

Q D G
2-bridge knot spun2-knot of 2-bridge knot 2-plat2-knot



2:E 2/14
1

a/p : =
G , +

↑ (n: a+=2)
azt...

C-Tk(9) :=It 2
.---

-- -- --( an an-z a , 3
S -

P: E K(% ) :WE . (P: E K(9): El

I
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rK(9) = +k(a(p) k(% ) Enk(9% ) .
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Proof. UK(% ) = rK(p) = Glok()) = Glok(ap)

= G(k(* )) = G(k(ap)) (Artin)

= K(* ) En K(9p) (Gordon-Luecke

= ok(% ) En ok (ap)
&
rk : EnE32

= ok(% ) = rK(9% )
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(Te(% ) , Tr(9) ItEA-T"L Al well-defined .

- ok(% ) = Te(*)T()
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* a = a modpf(ap) = f(ap) .

(E) a = amodpre f(ap) = f(qp)nmestn(i) .

#Pa
%

. .G)f(x)) = (x , 2) w+
y w = x)

.

2

( : = max(atz)a = x}
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G)f(x)) = (x , 2) w+
y w = x)

.

wi= xdy2z ...p-y5p+, E = := ( 1)(59/9
2

( : = max(atz)a = x}MG(k(* )) = (x ,y)w+ y w = x)
.



Proof p>7 :, a :* st. g.cd(a ,p) = 1. 14

(a = 3/5) : G(k(* )) = (x , y)w+yw = x)

k(3/5) F(3/5)

Fut ·i
w = xyx Y. w = x y'y

= xay2z,23y24

[2a/p) +z [2(a+P((p)
we = = (1) = ( -1)

,
a+ p: "
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I 4((/)(t)= (2 + == (- 1)(4)
E
up to
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,
t+].

↑tell
!.

F(ap) = f(ap) i p = P.

(i det f(9) = 4 f())- 1) = p .)
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pap = 25 :
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.
20 1 2 34

2 (f()(t) = E- t +E -t+t

Ei + + + --
= t3 -2t + 2t

1 2321 = t - 2t + 2
.

% = 45 = 95 :

=
.
R 0 + 2 34 m (i)(t) = E - * +t -E++
Ei + - + + -

= -2+ 3 + - 7

1072 = +2- 3t + 1
.
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(f()(t) = E- 2t + 2 .

4) F(-4/5)(t) = t 2t+ 2

= 2E - 2t + 7 ..: f(% ) #F7%)
.1

- -z.... k(45) = K(45).T

(201 ...7 ZIR FE'sF)

f(ap) = f(ap)Ep = p & a = amodp .

(E) % = almodz)
.
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(f() (t) It reciprocal 2.tyr
i

.
e. (f(* ) (t) = (F(y) (t).

El true tas ....
7/10 -/ 2705 ...

-* , 9/' st . 5k(*) EF19%).

f(4/p)Ef(4/p) !: EnE3ztjl .
D & F(4/p)E - F(4/p) :E (Terasaka)


